UTILITY – SHORT QUESTIONS
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[image: image1.png]7.

(a) State the Law of Diminishing Marginal Utility.

This law states that as a consumer consumes additional units of a good the

marginal utility/ extra satisfaction derived from each additional unit consumed will

eventually decline.

(b) The table below illustrates the Law of Diminishing Marginal Utility.

Definition @ 9 marks

Number of units consumed 1 2 3 1 5 6
Total Utility in units 30 65 85 100 110 115
Marginal Utility in units 30 35 20 15 10 5

5 figures @ 1mark each= 5 marks





[image: image2.png]Complete the table and state the point after which diminishing utility set in.

Diminishing utility sets in after the consumption of the 2" unit/when the 3" unit is
consumed.

3 marks
(17 marks)




[image: image3.png]In equilibrium a consumer buys 8 bars of chocolate at €1.00 each and 12 sandwiches at €4.00 cach.
The marginal utility of the eight bar of chocolate is 10 utils.

Using the Equi-Marginal Principle of Consumer Behaviour -

calculate the marginal utility of the twelfth sandwich. Show all your workings.

Marginal Utility of Chocolate = Marginal Utility of Sandwiches

Price of Chocolate Price of Sandwiches
10* = MUs so MUs= {40 ul g

€1.00%  €4.00*

17 marks graded
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[image: image4.png]A consumer in equilibrium buys 10 cups of coffee at €2 each and 10 phone cards at €6 cach. The marginal
utility of the cups of coffee is 5 utils. What s the marginal utility of phone cards? Show your workings.

Marginal Utility of coffee = Marginal Utility of Phone Cards

Price of Coffee Price of Phone Cards
5 = MUrc so MUrc= [S5 utily
€2 €6

IL6 marks graded,|
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[image: image5.png]6. Define the Law of Diminishing Marginal Utility and state TWO assumptions underlying the law.

Definition: 9 marks graded
Assumptions: 8 marks: 2 x 4 marks each.

The law of diminishing marginal utility states that as a consumer consumes
additional units of a good their marginal utility for this good will eventually
decline.




[image: image6.png]Assumptions:

1. It applies only after a certain point called the origin.

2. It does not apply to addictive goods.
3. Sufficient time has not elapsed for circumstances to change i.e.
change in tastes / change in incomes/ change in the nature of the product/

no gap in time between the consumption of successive units.

22 x 4 marks each = 8 mark:
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[image: image7.png]. FOUR economic assumptions used for analysing consumer behaviour:

W =

. The consumer has a limited income.

. The consumer aims to gets maximum satisfaction / utility from that income.
. The consumer acts rationally.

. The consumer is subject to the Law of Diminishing Marginal Utility.

4 points: 5 +4 +4 +4 =17 marks
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[image: image8.png]7. (a) State the Diminishing Marginal Returns

As more units of a variable factor of production are added to other (constant) factors of
production the returns to the variable factor will eventually fall.

(b) The table below illustrates the Law of Diminishing Returns

10 marks

Number of persons employed 1 2 3 4 5
Total Output, in units 12 27 47 | 63 | 73
Marginal Output, in units 12

4 correct figures x 1 marks each = 4 marks




[image: image9.png]State the point after which Diminishing Returns set in.

When the 4th person is employed/ After the 3rd person
3 marks
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8. 

(a) Complete the following table:

	No. persons employed
	1
	2
	3
	4
	5

	Total Output in units
	10
	25
	42
	58
	62

	Marginal Output in units
	10
	15
	17
	16
	4


(b) State at which point Diminishing Marginal Returns sets in:

When the 4th person produces less output than the 3rd person.

(c) Explain why Dimishing Marginal Returns occur:

Because the 4th person produces less than the 3rd person. This occurs as production will not continue to increase to the same level every time one person is taken on. This is due to constraints such as time limits on the day. 

1999/1997 – Q1
State the law of Diminishing Marginal Utility.

This law states that as a consumer consumes additional units of a particular product, at some state the marginal utility derived from the consumption of that product will begin to decrease. 

1995 – Q1
State the law of Equi Marginal Returns:

A consumer will be in equilibrium when he or she spends his or her income in such a way that the ratio of marginal utility to price is the same for all goods purchased. 
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